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1.		 A	 =	 P  + 1

2.		 I	 =	I =
100
Pnr 	

3.		 R	 =	 100( 1)m
N
−

		  P	 =	 mry;

n	 =	 fhy msT (tUlq;fs;)

r	 =	 tl;b tpfpjk;

1.	 &.3000f;F 7% Mz;L tl;bapy; xU tUlj;jpw;F fpilf;Fk; jdptl;bAk;> 

njhifAk; fhz;f.

		  mry; (P)  	 = 	 3000
  		                    n 	 = 	 1
       	                    r 	 = 	 7%

		  jdptl;b (I) 	 = 	
100
Pnr 	

			   = 	 3000 1 7
100
× ×

	
	 njhif (A)  	 = 	 P + l

			   = 	 3000 + 210
			   =	 3210

>Mk (SIMPLE INTEREST)
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2.	 7>500f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdptl;biaAk;> 

njhifiaAk; fhz;f.

	  	                     P 	 = 	 7500
 		                 n 	 = 	 xU tUlk; 6 khjq;fs;

			   = 	
6 1 31 1

12 2 2
= =

 
tUlq;fs;

	  	                     r 	 = 	 8%

		  jdptl;b  (I) 	 = 	
100
Pnr

	 	 	
= 	

37500 8
2

12

× ×

 

	 	 	
= 	 7500 3 8

2 100
× ×
×

			   = 	 900
             njhif P 	= 	 P + I
			   = 	 7500 + 900
			   = 	 8400

3.	 6>750f;f 219 ehl;fSf;F 10% tl;b tPjk; jdptl;biaAk;> njhifiaAk; 

fhz;f.

	  	                   P 	 = 	 6750				             365 ehl;fs; 	=	1 tUlk;

219 ehl;fs; 	=	
219
365

	 	 	
=	

3
5

 tUlk;

73 ehl;fs; 	 =	
73

365

	 	 	
=	

1
5

 tUlk;

	  	                   n 	 = 	 219 ehl;fs;

			   = 	 219 3
365 5

=  tUlk;

	  	                   r 	 = 	 10%
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		  jdptl;b   (I)	 =	
100
Pnr

			   = 	 6750 3 10
100 5

× ×
×

			   = 	 405
		  njhif   (A)	 =	 P + I
			   = 	 6750 + 405
			   = 	 7155

4.	 uhFy;   7-6-2006 md;W 4000 I fldhfg; ngw;W mij 19-8-2009 md;W 

jpUk;g nrYj;jpdh;. 5% tPjk; tl;b fzf;fplg;gl;lhy; mth; nrYj;jpa njhif 

vt;tsT?

			   P 	 = 	 4000
			   r  	 = 	 5%
		  [{d;		  =	 24 (30 − 6)
		  [{iy		  =	 31
		  Mf];L	 =	 18
	       nkhj;j ehl;fs;	 =	 73
 			   n 	 =	 73 ehl;fs;

           		  =	 73 1
365 5

=
 
tUlk;

			   I 	 =	
100
Pnr

				    =	 4000 1 5 1
100 5
× × ×

×
				    =	 40
	              njhif (A)	 =	 P + I
				    =	 4000 + 40
				    =	 4040
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5.	 tp[a; 10000I 5% tl;b tPjj;jpy; itg;G epjpahf nrYj;Jfpwhh;. vj;jid 

tUlq;fspy; 11>000I mth; ngWthh;?

			   A 	 = 	 11,000
			   P 	 = 	 10,000
			   r 	 = 	 5%
			   n 	 = 	 ?
			   I 	 =  	 A – P
  				    = 	 11000 – 10000
			   I 	 = 	 1000

			   n   	 =  	 100
Pr

I

    			   =  	 100 100
10000 5

×
×

			   n  	 = 	 2 tUlq;fs; 

6.	 &. 500-f;F Mz;bw;F 12% jdptl;b tPjj;jpy; 2 Mz;bw;F tl;b fhz;f.

	 P 	= 	 100%

	 I	 =	
100
PNR

	 	 =	
500 2 12

100
× ×

	 	
=	 120

7.	 &. 800-f;F Mz;bw;F 10% tPjk; 292 ehl;fSf;F jdptl;b fhz;f.

	 292 ehl;fs; 	 = 	
4
5

	 	 	 I	 =	
100
PNR

	 	 	 	 =	

4800 10
5

100

× ×

	 	 	 	
=	 64
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8.	 ‘fpU\;zh vd;gth; &.1000-I 6% tl;b tPjj;jpy; tq;fpapYk; kw;Wk; &.2000-I 15% 

tl;bapy; epjp epWtdj;jpYk; nrYj;Jfpwhh;. mtUila nkhj;j njhiff;fhd 

nkhj;j tl;b tpfpjj;ij fhz;f.

	    P		  R		  I
	 1000	 →	 6%	 → 	 60

	 2000
3000

	 →	 15%	 →	 300
360

	

360 100 12%
3000

R = × = 	

9.	 vj;jid tUlq;fspy; xU Fwpg;gpl;l njhifahdJ 10% tl;b tPjj;jpy; ,U 

klq;fhf khWk;.

	 N 	= 	 100( 1)m
R
−

	 	
=	 100(2 1)

10
−

	
N 	=	 10 tUlq;fs;

10.	 xU Fwpg;gpl;l njhifahdJ 5 tUlq;fspy; jdptl;b tPjj;jpy; ,U klq;fhf 

khWfpwJ vdpy; tl;b tpfpjj;ij fhz;f.

	 R 	= 	 100( 1)m
N
−

	 	
=	

100 (2 1)
5
−

	
R 	=	 20%
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11.	 ve;j njhifahdJ jdptl;bapy; 2 Mz;Lfspy; 10% Mz;L tl;bapy; &.4800 

Mf khWk;?

	 P	 +	 I	 =	 A
	 100%	 +	 20%	 =	 4800

	

120%			   =	 4800
100%			   =	 x

	 120x			   =	 100 × 4800
	 x			   =	 4000	

12.	 xU Fwpg;gpl;l njhifahdJ jdp tl;bapy; Mz;L tl;b tpfpjj;jpy; ,U 

klq;fhf khWfpwJ. mNj njhif ehd;F klq;fhf Mtjw;F Njitg;gLk; tl;b 

tpfpjk;

	

100 300
5 x

=

	 x	 =	 15%

13.	 xU Fwpg;gpl;l njhifahdJ 7 Mz;Lfspy; ,U klq;fhf khWfpwJ vdpy; 

mNj njhif %d;W klq;fhf khw vLj;Jf; nfhs;Sk; fhyk;

	

100 200
7 x

=

	 x	 =	 14 tUlq;fs;

14.	 xU egh; ,U ntt;NtW tq;fpfspy; ,Ue;J fldhf jyh 1000 &ghia 2 

Mz;LfSf;F fldhf ngw;Ws;shh;. mt;thW ngwg;gLk; jdptl;b njhifSf;F 

,ilNahd NtWghL &.50 vdpy; tl;b tpfpjq;fSf;F ,ilNaahd NtWghL 

vt;tsT?

	 I	 =	
100
PNR

	 50	 =	 1000 2
100

R× ×

	
2.5%

	
=	 R
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15.	 xU Fwpg;gpl;l tl;b tpfpjj;jpy; jdptl;bapy; &. 1000 MdJ &.1400 Mf 4 

Mz;Lfspy; khWfpwJ vdpy; tl;b tpfpjj;ij 2% mjpfhpj;jpUe;jhy; me;j 

njhif 4 Mz;LfSF;F gpwF vd;dthf ,Uf;Fk;.

	 1000	 –	 1400

	 R	 =	 2% cah;T

	 ehd; F tUlj;jpw;F Vw;wg;gLk; tl;b tpfpjk; =	2% × 4 = 8%

	
81000 80

100
× =

	 1000 →  1400  +  80  =  1480

16.	 &. 1000 vd;w njhifahdJ ,UgFjpfshf gphpj;J KjyPL nra;ag;gLfpwJ. 

Kjy; gFjpia 10% jdptl;b tPjj;jpw;F> 2tJ gFjpia 20% jdptl;b tPjj;jpw;F 

KjyPL nra;fpwhh;. ,Wjpapy; mtUf;F fpilj;j nkhj;j tl;b &. 140 vdpy; 

mth; 10% tl;b tPjj;jpy; KjyPL nra;j njhif vt;tsT

	 P	 =	 x	 P	 =	 1000  –  x
	 R	 =	 10%	 R	 =	 20%
	 N	 =	 1	 N	 =	 1
			            I  =  140

	 100 100
PNR PNR I+ =

	

10 10 (1000 ) 20 140
100 100

x x+ × − ×
+ =

	 10x  +  2000  –  20x   =   14000
	 x   =   60g

	 10% - y; KjyPL nra;j njhif   =  600

vspa Kiw:

	
10% 20%

14%
6 : 4

600 400

 
 
 
 
 
 

	 	

140 100 14%
1000

× =

	 10%	 y; KjyPL nra;j njhif   =  600	
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17.	 xU njhifahdJ jdptl;bapy; 2Mz;Lfspy; &. 702 MfTk; %d;W 
Mz;Lfspy; &.783 Mf khWfpwJ. tl;b tpfpjj;ij fhz;f.

	

2 3
702 783

81 - xU tUl tl;b

	 2 × 81  =  162
	 P	 =	 702 – 162
	 P	 =	 540

	 R	 =	
81 100 15%

540
× = 	

18.	 xU njhifahdJ jdptl;bapy; xU Fwpg;gpl;l tl;b tpfpjj;jpy; 3 Mz;LfSf;F 

KjyPL nra;ag;gLfpwJ. tl;b tpfpjj;ij 2% mjpfhpf;Fk; nghOJ tl;bahdJ 

&.300 mjpfkhf fpilf;fpwJ. me;j njhifia fhz;f.

	 I	 =	
100
PNR

	 300	 =	
3 2

100
P× ×

	

	 P	 =	 5000

19.	 xUth; jdJ KjyPl;by; ½ gFjpia 8% tl;b tpfpjj;jpw;Fk;> ¼ gFjpia 6% 
tl;b tpfpjj;jpw;Fk;> kPjpia 8% tl;b tpfpjj;jpw;Fk; KjyPL nra;fpwhh;. Mz;L 

,Wjpapy; mtUf;F fpilj;j nkhj;j tl;b &.660 vdpy; mth; KjyPL nra;j 

njhif

	 KO njhif	 =	 P

	

1 8%
2
1 6%
4
1 8%
4

P

P

P

−

−

−
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100 100 100

1 1 18 6 8
2 4 4 660
100 100 100

34 2 660 100
2

PNR PNR PNR I

P P P

P P P

+ + =

× × ×
+ + =

+ + = ×

	 15P	 =	 600 x 100 x 2

	 P	 	 =	 8800

20.	 ve;j njhifahdJ jdptl;bapy; 10% tl;b tpfpjj;jpy; ehnshd;Wf;F &.10I 

tl;bahf nfhLf;Fk;

	 xU ehs; tl;b	 =	 10
	 xU tUl tl;b	 =	 365
	 tl;b tPjk;	 =	 10%
	 10%		  =	 365
	 100%	 	 =	 3650
	 me;j njhif	 =	 3650

21.	 Rdpy; vd;gth; xU njhifia Kjy; 2 Mz;LfSf;F Mz;Lf;F 10% 
tl;b tPjj;jpYk; mLj;j 2 Mz;LfSf;F 12% rjtPfpj tl;b tpfpjj;jpYk;> 

4 Mz;LfSf;F mg;ghw;gl;l fhyj;jpw;F Mz;Lf;F 14% tl;b tpfpjj;jpYk; 

fldhf  ngw;whh;. 7 Mz;Lfs; Kbtpy; mtuhy; nrYj;jg;gl;l tl;bapy; nkhj;j 

$l;Lj;njhif 8600 &gha; vdpy; mth; fldhf ngw;w njhif vt;tsT?

	 100 100 100
PNR PNR PNR I+ + =

	
P × 2 × 10  +  2 × P × 12  +  P × 3 × 14	 =	 8600 × 100

						      86P	 =	 8600 × 100

						      P	 =	 10000
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22.	 xUth; &.15000I 12% Mz;L tl;bapYk; kw;Wk; ,d;ndhW njhifia 15% 

Mz;L tl;bapYk; ,uz;L Mz;LfSf;F fldhf ngw;whh;. mth; jpUg;gp 

nrYj;jpa nkhj;j tl;b &.9000 vdpy; mth; ngw;w nkhj;j njhif vt;tsT.

	 100 100 100
PNR PNR PNR I+ + =

	
15000 2 12 2 15 9000

100 100
P× × × ×

+ =

	
3,60,000  +  30P	 =	 9,00,000

			   30P	 =	 5,40,000

			   P	 =	 18,000
	 nkhj;j njhif	 =	 15000  +  18000  =  33,000

23.	 xU Fwpg;gpl;l njhifapd; jdptl;bahdJ me;j njhiff;F rkkhfTk;> 

Mz;LfshdJ tl;b tpfpjj;jpw;F rkkhfTk; ,Ue;jhy; tl;b tpfpjj;ij 

fhz;f.

	 I	 =	 P

	 N	 =	 R

	 I	 =	
100
PNR

	 P	 =	
100

P R R× ×

	
100	 =	 R2

	 R	 =	 10%
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24.	 Mz;nlhd;Wf;F 12% rjtpfpj jdptl;b tpfpjj;jpy; 3 Mz;Lfspy; fldhf 

ngwg;gl;Ls;s 1092 &gha; KOikahf jpUg;gpr; nrYj;jg;gl Ntz;Lnkdpy; 

Mz;nlhd;Wf;F jpUg;gpr; nrYj;jg;gl Ntz;ba njhif vt;tsT?

	 Mz;nlhd;Wf;F nrYj;jg;gl Ntz;ba njhif	 =	 100%
						      Kjy; tUlk;		  =	 100%
						      2- tJ tUlk;		  =	 100  +  12   =  112%
						      3- tJ tUlk;		  =	 112  +  12   =  124%
		  100%  +  112%  +  124%	 =	 1092
				    336%		  =	 1092
				    100%		  =	 x
				    x		  =	 325

25.	 &.7500 f;F 8% tl;b tPjk; xU tUlk; 6 khjq;fSf;fhd jdp tl;biaAk; 

njhifiaAk; fhz;f.

	          I	 =	
100
PNR

	 	 =	

37500 8
2

100

× ×

	             I	 =	 900

	 A  =  P + 1	 =	 7500 + 900   =   8400

26.	 &. 6750 f;F 219 ehl;fSf;F 10%   tl;b tPjk; jdptl;biaAk;> njhifiaAk; 

fhz;f.

	 219 ehl;fs;	 =	
3
5

	 	 	 I	 =	
36750 10
5 405

100 100
PNR × ×

= =

			   A	 =	 P × I	 =    6750  +  405   =  7155



12

A]\

27.	 xU Fwpg;gpl;l njhifahdJ 8% tl;b tPjj;jpy; 5 Mz;Lfspy; &.10080 

MfpwJ vdpy; mriyf; fhz;f.

	 P   +   I			  =	 A

	 100%	 +	 40%	 =	 10080

		          40%	 =	 10080

			   1%	 =	 10080 72
140

=

	 	 	
P   	 =	 100%	 =    7200

28.	 xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; &. 8880 MfTk; 4 Mz;Lfspy; 

&. 7920 MfTk; khWfpwJ vdpy; mry; kw;Wk; tl;b tPjj;ij fhz;f.

	

4 6
7920 8880

960 - 2 tUl tl;b

	 	 =  	
960

2
		

	 I	 =	 480 (xU tUl tl;b)

		  =	 480 × 4
		  =	 1920

	 P	 =	 7920  −  1920  =  6000

	 R	 =	 480 100 8%
6000

× =
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29.	 &. 1>200 f;F 12½%   tl;b tPjk; 3 Mz;Lfspy; ngwg;gLk; jdptl;biaAk; 

njhifiaAk; fhz;f.

	          I	 =	
100
PNR

	 	 =	

251200 3
2

100

× ×

	             	 =	 150

	 A  =  P + 1	 =	 1200 + 150   =   1350

30.	 Mz;bw;F 10% tPjk; tl;b jUk; xU tq;fpapy; NyhNf\; &. 10>000 itg;G 

epjpahf nrYj;jpdhh;. mj;njhifia 2 mz;L 3 khjq;fSf;Fg; gpwF mth; 

jpUk;gg; ngWfpwhh;. mth; ngw;w tl;biaf; fhz;f.

	 P	 =	 10000

	 R	 =	 10%

	 N	 =	 2 tUlq;fs; 3 khjk;    = 	 1 92
4 4

=
 
tUlk;

	 I	 =	
910000 10
4

100 100
PNR × ×

=

	 	
=	 250 × 9  ⇒  2250

31.	 &. 2>500 I 13% Mz;L tl;b tPjk; itg;G epjpahf nrYj;jpdhy;> 146 ehl;fspy; 

ngWk; njhifiaf; fhz;f.

	 146 ehl;fs;	 =	
2
5

	 	 I	 =	
22500 13
5 100

100 100
PNR × ×

= =

	 	
A	 =	 P + I	 =   2500 + 130  =  2630

32.	 &. 12>000 f;F 9% Mz;L tl;btPjk; 21 Nk 1999 ypUe;J 2 Mf];L 1999 tiu 

fpilf;Fk; jdptl;biaAk;> njhifiaAk; fhz;f.

	 Nk	 =	 10 ehl;fs;	
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	 [{d;	 =	 30 ehl;fs;

	 [{iy	 =	 31 ehl;fs;

	 Mf];L	 =	 2 ehl;fs;

	         N	 =	 73 ehl;fs;	=  �
5

	           I	 =	
112000 9
5 216

100 100
PNR × ×

= =

	           A	 =	 P + I    =   12000 + 216  =  12216

33.	 rj;ah &. 6>000 I xU tq;fpapy; nrYj;jp 5 Mz;Lfspd; Kbtpy; &. 7500 I 

ngw;whh;. vdpy;> tl;b tPjj;ijf; fhz;f.

	 A	 =	 7500

	 P	 =	 6000

	 N	 =	 5

	 R	 =	 ?

	 I	 =	 1500

	 I	 =	 100
PNR

	 1500	 =	 600 5
100

R× ×

	
20%	 =	 R

34.	 vj;jid Mz;Lfspy; 8% tl;b tPjj;jpy; &. 5>000 khdJ &. 5>800 Mf 

khWk;?

	 A	 =	 5800

	 P	 =	 5000

	 R	 =	 8%

	 N	 =	 ?

	 I	 =	 800
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	 I	 =	 100
PNR

	 800	 =	 5000 5 8
100
× ×

	
800	 =	 50 × 5 × 8

	 N	 =	 2

35.	 xU njhifahdJ 12½ % Mz;L tl;b tPjj;jpy; xU Fwpg;gpl;l Mz;Lfspy; 

,ul;bg;ghfpwJ. Mz;Lfspd; vz;zpf;ifiaf; fhz;f.

	 N		  =	
100( 1)m

R
−

	 M		 =	 2

	 	 	 =	
100(2 1)

25
2

−

	        
N	 = 8

•••
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| k (COMPOUND INTEREST)

tif 1 : Mz;Lf;F xU Kiw fzf;fply; 

		  $l;Lj;njhif  
11
2 100

n
rA P   = +     

11
2 100

n
rA P   = +     

		  $l;L tl;b 	 = A −  P

tif 2 :	miuahz;Lf;F xU Kiw fzf;fply; 

		  $l;Lj;njhif  
2

11
2 100

n
rA P   = +     

		  $l;L tl;b = A − P

tif 3:	 fhy; Mz;Lf;F xU Kiw fzf;fply;

		  $l;Lj;njhif 
4

11
4 100

n
rA P   = +     

tif 4 : fhyk; Mz;Lfspd; gpd;dkhf mikjy;

		  cjhuzkhf $l;L tl;b tPjk; Mz;nlhd;Wf;F r %,  mry;  P, fhyk; 5  

tUlq;fs; vd;f 

		  $l;Lj;njhif	
5 11 1

100 4 100
r rA P

      = + +           

   5 Mz;Lfs;      
1
4

 Mz;Lfs;
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1.	 Mz;Lf;F xU Kiw tl;b fhZk; Kiwapy; 15>625f;F Mz;L tl;b 8% tPjk; 

vdpy; 3 Mz;LfSf;Ff; $l;L tl;b fhzTk;

		  A 	 = 	 1
100

n
rP   +     

	 	 	
= 	

3
815625 1

100
  +     

	 	 	
= 	

3
215625 1
25

  +     

	 	 	
= 	

32715625
25

 
 
 

			   = 	 19,683
	 $l;L tl;b 	 = 	 A - P
         	 	 = 	 19,683  −  15,625
             		 =  	 4058

2.	 miu Mz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; 1000f;F Mz;L 

tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;Ff; $l;L tl;b fhzTk;

	 P = 1000,  r = 10%
	 n = 18 khjq;fs;  = 18

12
  tUlq;fs;  =  3

2
 tUlq;fs;

			   A 	 = 	
2

11
2 100

n
rP   +     

    				    =	

32
21 101000 1

2 100

×
  +     

	 	 	 	
=	

311000 1
20

 +  

    				    =	
3211000

20
 
  

    				    = 	 1157.625
		  $l;L tl;b  	 =  	 A − P

				    = 	 1157.625  − 1000

                    		  = 	 157.63
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3.	 20>000f;F 15% Mz;L tl;b tPjj;jpw;F 2 1/3  Mz;LfSf;F; $l;L tl;biaf; 

fhz;f. 

			   P	 = 	 20000,  r = 15%,  n = 12
3

  Mz;Lfs;  

			   A 	 = 	
2 11 1

100 3 100
r rP     + +    

    

				    = 	
215 1 1520000 1 1

100 3 100
    + +    

    

   				    = 	
23 120000 1 1

20 20
   + +   
   

				    = 	
323 2120000

20 20
   
   
   

   				    = 	 27,772.50

 	 $l;L tl;b  	= 	 A − P

                      		 = 	 27,772.50 − 20,000

                      		 = 	 7772.50

4.	 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif 774.40 MFk;. $l;L tl;b 

tPjk; fhz;f. (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ)

	 P = 640,  A = 774.40   n = 2  Mz;Lfs;   r = ?

   			   A 	 = 	 1
100

nrP + 
 

 		  774.40 	 = 	
2

640 1
100

r + 
 

       		  774.40
640

 	 = 	
2

1
100

r + 
 

	      77740
64000

 	 =  	
2

1
100

r + 
 

	       	

121
100 	

=	
2

1
100

r + 
 



19

A]\

	 	

211
10
 
 
  	

=	
2

1
100

r + 
 

	 	

11
10
 
 
  	

=	 1
100

r + 
 

	 	 100
r

	 	
=	 11 1

10
−

	

	 	 100
r

	 	
=	 1

10 	         		   r   	 = 	 10%
     $l;L tl;b tPjk; Mz;nlhd;Wf;F 20%
	
5.	 1600 MdJ 5% Mz;L $l;L tl;b tPjk;  nfhz;L vj;jid Mz;Lfspy; 

1852 . 20 MFk;

	 P= 1600,  A = 1852.20, r = 5%,  n = ?  

         	             A 	 = 	 1
100

nrP + 
 

	        1852.20 	 = 	 51600 1
100

n
 + 
 

	      1852.20
1600 	

=	 105
100

n
 
 
 

	 	

185220
160000 	

=	 21
20

n
 
 
 

	

		  9261
8000 	

=	 21
20

n
 
 
 

	 	

321
20

 
 
  	

=	 21
20

n
 
 
 

		           n 	 = 	 3 Mz;Lfs;



20

A]\

$l;L tl;bf;Fk; jdp tl;bf;Fk; cs;s tpj;jpahrk;

mry;  P f;F r%  tl;btPjk; vdpy; ,uz;L Mz;LfSf;Ff; $l;L tl;bf;Fk; jdptl;bf;Fk; 

cs;s tpj;jpahrk; 

2

100
rP =  

 

1.	 8000f;F 10% tl;b tPjk; vdpy;> ,uz;L Mz;Lfspy; fpilf;Fk; $l;L tl;bf;Fk; 

jdptl;bf;Fk;  cs;s tpj;jpahrj;ijf; fhz;f.

	 P= 8000,  n = 2Mz;Lfs;, r = 10% (Mz;nlhd;Wf;F)

	 ,uz;L  Mz;Lf;Ff; $l;L tl;bf;Fk; 

	 jdp tl;bf;Fk; cs;s tpj;jpahrk;     = 	
2

100
rP 

 
 

						      =	
2108000

100
 
 
 

						      =	
2108000

100
 =  
 

	 	 	 	 	 	
=	

218000
10
 × 
 

	 	 	 	 	 	
=	 80
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1.	 &. 15625-f;F Mz;L tl;b 8% tPjk; vdpy;> 3 Mz;LfSf;F $l;L tl;b 

fhzTk;.

					       I
	 15625	 ⇒	 8%	 ⇒	 1250	 - Kjy; tUlk;

						      1350	 - 2tJ tUlk;

						      1458	 - 3tJ tUlk;

					     I   =	 4058

2.	 ,uhk;yhy; vd;gth; &.8000 I 15% $l;L tl;b jUk; xU epjp epWtdj;jpy; KjyPL 

nra;jhh; vdpy;, %d;W Mz;Lfspy; mtUf;F fpilf;Fk; tl;bj;njhif 

vt;tsT?

					       I
	 8000	 ⇒	 15%	 ⇒	 1200	 - Kjy; tUlk;

						      1380	 - 2tJ tUlk;

						      1587	 - 3tJ tUlk;

					     I   =	 4167

3.	 &. 20000-f;F 15% Mz;L $l;L tl;b tPjj;jpw;F 
��
�

 Mz;LfSf;F $l;L 

tl;bia fhz;f.

					       I
	 20000	 ⇒	 15%	 ⇒	 3000	 - Kjy; tUlk;

						      3450	 - 2tJ tUlk;

						      3967.5	- 3tJ tUlk;

	 3 tUl tl;bia 
1
3

 My; ngUf;f  ⇒ 	 13967.5
3

×

	 	 	 	 	 	
=	 1322.5

	 12
3

 Mz;Lf;fhd tl;b  	 =	 3000 + 3450 + 1322.5
						      =	 7772.5
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4.	 &.4000-f;F Mz;L tl;b 10% tPjk; vdpy; 2 Mz;LfSf;F $l;L tl;b 

fhz;f.

					       I
	 4000	 ⇒	 10%	 ⇒	 400	 - Kjy; tUlk;

						      440	 - 2tJ tUlk;

					     I   =	 840

5.	 &. 18000- f;F Mz;L tl;;b 10% tPjk; vdpy; 2½ Mz;LfSf;F $l;L tl;b 

fhz;f

					       I
	 18000	 ⇒	 10%	 ⇒	 1800	 - Kjy; tUlk;

						      1980	 - 2tJ tUlk;

						      2178	 - 3tJ tUlk;

	 3 tUl tl;bia 
1
2  My; ngUf;f

	 	 	 	 	 =	
12178
2

×

	 	
	 	 	

=	 1089

	 12
2

 Mz;L tl;b 	 =	 1800  +  1980  +  1089

		  	
	 	

=	 4869

6.	 &. 1600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; 

&. 1852.20 MFk;.

	 A	 =	 1852.2
	 P	 =	 1600
	 R	 =	 5%
	 I	 =	 252.2
	 					      I
	 1600	 ⇒	 5%	 ⇒	 80	 - Kjy; tUlk;

						      84	 - 2tJ tUlk;

						      88.2	 - 3tJ tUlk;

					     I   =	 252.2
	 	 	 	 	 N  =	 3 tUlq;fs;
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7.	 fhaj;jphp &.12000I 5% Mz;L $l;L tl;b jUk; xU tq;fpapy; ‘n’ 
Mz;LfSf;F KjyPL nra;jhh;. mth; Kbtpy; &.13230 ngw;whh;. n – d; kjpg;G 

vd;d?

	 A	 =	 13230
	 P	 =	 12000
	 R	 =	 5%
	 I	 =	 1230
	   P			   R		   I
	 12000	 ⇒	 5%	 ⇒	 600	 - Kjy; tUlk;

						      630	 - 2tJ tUlk;

					     I   =	 1230
					     N  =	 2 tUlq;fs;

8.	 miu Mz;Lf;F xU Kiw tl;b mrYld; Nrh;f;fg;gl;lhy; &. 1000-f;F 

Mz;L tl;b tPjk; 10% tPjg;gb> 18 khjq;fSf;F $l;Ltl;b fhzTk;.

	 miu Mz;bw;F xU Kiw tl;b fzf;fpLk; NghJ tl;b tpfpj;ij(R) 2-My; tFf;f 

Ntz;Lk;.

	 R	 =	 10% 5%
2

=

	    P			   R		   I
	 1000	 ⇒	 5%	 ⇒	 50	 - Kjy; 6 khjk;

						      52.5	 - 2tJ 6 khjk;

						      55.13	 - 3tJ 6 khjk;

					     I   =	 157.63

9.	 miuahz;bw;F xU Kiw tl;b $l;Lk; Kiwapy; &. 24000f;F Mz;nlhd;Wf;F 

10%  tl;b tPjk; 1½ Mz;Lfspy; fpilf;Fk; $l;Ltl;b vt;tsT.

	 R	 =	 10% 5%
2

=

	    P			   R		   I
	 24000	 ⇒	 5%	 ⇒	 1200	 - Kjy; 6 khjk;

						      1260	 - 2tJ 6 khjk;

						      1323	 - 3tJ 6 khjk;

					     I   =	 3783
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10.	 fhyhz;bw;F xU Kiw tl;b $l;Lk; Kiwapy; &. 10,000 f;F Mz;nlhd;Wf;F 

4% tl;b tPjk; 9 khjj;jpw;F fpilf;Fk; $l;L tl;b vt;tsT

	 fhyhz;bw;F xUKiw tl;b fzf;fpLk;NghJ tl;b tpfpjj;ij 4-My; tFf;f 

Ntz;Lk;.

	 R	 =	 4% 1%
4

=

	    P			   R		   I
	 10000	 ⇒	 1%	 ⇒	 100	 - Kjy; 3 khjk;

						      101	 - 2tJ 3 khjk;

						      102.01	- 3tJ 6 khjk;

					     I   =	 303.01

11.	 &. 15,625 – I 9 khjq;fSf;F 16% Mz;L tl;b tPjk; KjyPL nra;jhy;, tl;b 

fhyhz;Lf;F xU Kiw Nrh;f;fg;gl;lhy;> $l;L tl;bia fhz;f.

	 R	 =	 16% 4%
4

=

	    P			   R		   I
	 15625	 ⇒	 4%	 ⇒	 625	 - Kjy; 3 khjk;

						      650	 - 2tJ 3 khjk;

						      676	 - 3tJ 6 khjk;

					     I   =	 1951


